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20x1=20
TYPE A TYPE B
Q.NO | OPTION | ANSWER Q.NO | OPTION ANSWER
1. () [2, 00) 1. () P(ANnB)+P(ANB)
2. @ |6 2. @ |3
3. ®@) n(n+ 1) 3. () [2,0)
4. () y = eX 4. @) n(n+ 1)
5. @) 3 5. ()] 512
6. (@) QemGamsmT (&GaTemrLd 6. @) %
7. () 55 7. (@) &I Gsvemev
8. (F) 90° 8. (<) 6
9. ()] 6 9. (F) 7
10. (<) L 10. (@) QemiGsTemT (& GamsmTiD
log3
T i o T 5
1. () 50 Co5* 11. ) 5
23x+5
12. @) +c 12. (@) 4x —3y—7=0
3log?2
3x+5
13. () a+38=11 13. @) 2 +c
3log?2
14. () P(ANB)+P(ANB) 14. () y = e~
15. (@) 512 15. (@) a+38=11
16. (@) L&l @lsusmev 16. () 90°
17 ( K 17 ( 1
k3
18. 4x —3y—7=0 18. —
(<) x — 3y (<) \?
19. () 7 19. () 5 cosx®
10
20. @) 1 20. (<) 6
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Q.NO. CONTENT MARKS
21. PO = QR 1
P,Q,R e GsmrLsnwll LsTaflser 1
22, P(A)+P(B)+P(C)+P(D)=1 1
FTSHEILLOTETEn 6 1
. d ) *
23 Y es™ cosx (2
dx
24. n2"1 =12 1
n=3 1
_1[1 9 25
23. A_E[o 4 16 2
(eeu1Qeum(m, &iflwmenr Hlemra@Lo 1 w&liGILstoT)
26. 2 3 4 1
=3x|5 6 8
2 3 4
=0 1
27. x =1,2,3,4. 1
x=---3,-2,—-1,0,1,2,3,4. 1
28. 2,2,4,4,6,6. 2
29. h = 9cosa, k = 9sina 1
x?+y?2=81 1
30. 31 =6, 4! = 24 1
(5! + -+ 20! 6ir seoTOMLD @l6vSaLn 0)
6REITMITLD @levsasn= 0 1
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Q.NO. CONTENT MARKS
31. —1<cosx<1 1
.. 1 1
FFHL0 (—°°, _E] U [Z’ °°) 5
32. x2—x—2=(x+1)? 1
x=-1 2
33. sin(45° 4+ 0) — sin(45° — 6) = 2c0s45°sin6 2*
= \2sind 1
34. m+2)(n+1n(n—-1)=42xnn-1) 2"
n=>5 1
35. 102* = (100 + 2)* 1
= 108243216 2%
36. ABetr amiie| = i 1
BCetramie| = % 1

60 GamLesmLoll Lsiarflase

(rhm (pempuflsh aflenL sevorLplbSTeuLD (L) LSIIGILIGT RILPEHIS ML)

37. d=Abx?&) (or) d=+A(bx¢)

2 2
A=iﬁ(or)/1=ﬁ

2
7

i=+

b x &)
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38. = EJ(sinSx — sin2x)dx 2"
_ 1( cos8x N cost) + 1
39. n(S) = 2° (or) 256 1
) 7
(I) P(A) = a 1
. 37
(i) P(B) = 1
40. y = cos (cos2x) 1
ay _ y & o
3 = 2 (O Gouyl eugefled -
LIV 7x5=35
Q.NO. CONTENT MARKS
41.(a) XAxtl Ly, x-S 1
X2 —5x+6 x?>—5x+6
6x —5 A B
= + 1
x2—-5x+6 (x—-2) (x—3)
A=-7 , B=13 1+1
x2+x+1 _ —7 13
x2—5x+6 +(x—2)+(x—3) !
(Sid605)
41.(b) (i) y=vV3x+4 1
x y
ii +2=1
( ) —4-/\/§ 4 1
Y 5”
(i) p=2, a== 1
51 _ ST 5 2%
xcos? + ysm? =
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42.(a) _ cot 8 cosBcosH 3
"~ —cosB(—tanb) cosec O
) 2
= cos“Ocotf
(Sjveg)
42.(b) (\/ 1- xz)y = sin"x 1
(1-x)y;—xy=1 2
(1-x*)y, —3xy; -y =0 2
43.(a)
GaImymu euemITLILLD 1
tanf 6 sin 2
>-=—
2 2 2
cosf < 51;19 <1 1
y sinf 1
650 6
(mhml (pemmuish aflenL SevTLlESTEID (P LHLIGILIGTET QIpHISETLD)
(jbeug)
43.(b)
P(A) =2 P(B/A) = 1 . ,
P(4;) = — P(B/A2> =
60 2 40 4 *
= 2
P(B) =150 100 * 100 * 100
= m (07")0 028 1
44.(a) Va3 +7=3Yx3+4 =3+ 7)§ — (3 + 4)§

7\ 4N
=X<1+—3> —X(1+—3)
X X

— (1 4= 1 i
BT PR
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44.(b) kx? —x(2k+5)+(k+7)=0 1
2k +5 1
a+2a=
k
poy _KET 1
a (2a) = R
k=2 (or)k = —25 2
45.(a) LHS = tan60° (tan20°tan 40°tan 80°) 1
= tan60°tan60° 2"
=3 2
(Sjeveng)
1
45.(b) [ = j’ : : dx 2
5 3
\/ (x+3) -()
—tog|(x+3)+ [(v43) - (3) ]+ >
= log|(x +5 X+ > c

46.(a)
CHMTITL 6MTLILLD 9
Qumfl A w' G QsfisauissT sremTemnisama= 5000 X > 2

100
= 1950
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F E
B(D) D C(E)
i b+ o R, s i+b
2 -2 2
W_51’+b+E
73
—, a+

o

D
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47.(a)

P(1) 2_esoremio
P(K) 2_stoTsmio 6T6oTS
P(k+1) 2_evoremLo eTear [Hlmieu

Wipe TS

(D060

47.(b)

1+4a —a -a
1 b 0
1 0 c

= bc + abc+ ac+ ab

1 1 1
:abc<1+—+—+—)
a b c
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